Marked text




1 It is easy to place too much mystical importance on genetic connections [between parent and child].  After all, 2 there is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings.  3 It is the added psychological aspects of parenting that give the parental genetic connection such an entitlement to legal recognition.  4 Nor should the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent.  5 Not only is this a dangerous doctrine that long led to child abuse and child labor, 6 it fails to distinguish between owning the raw materials and owning the creation arising from them. (472)

Diagram











I would not fault you if you marked “after all” as a premise indicator.  You could reasonably claim that it is functioning like “because” here.





Topic sentence





Ask yourself, “Does the author intend sentences 5 and 6 as premises direct to his topic sentence, or does he intend them as premises to another sentence in this paragraph?





Why does the author write sentence 5 beginning with the word “nor”?  This is a delicate use of language I want you to notice and admire.  If he had written 5 in standard grammatical form, “The fact that one’s child shares one’s genes should NOT become the basis for a property rights argument . . .,” we would not have any indication of its connection to the other sentences in the paragraph.  By putting the “nor” first, he is balancing it with the implied “neither” statement, sentence 2.  Another way in English to indicate this balancing of 2 with 4 is to begin sentence 2 with the words “on the one hand” and sentence 4 with the words “on the other hand.”  We should try to reflect this balance in our diagrams.





I take sentence 3 to be a premise, but I wouldn’t fault you if you left it out as background information.





If you weren’t sure what to do with sentences 5 and 6, your best bet would be to clump them together in the same box with sentence 4. 





Sentences 5 and 6 are independent premises for 4, because neither answers the “Why is it relevant?” question about the other.





Notice how I rewrote sentences 5 and 6, so that the reader does not have to guess what the pronouns “this” and “it” stand for.





6 [To make the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent] fails to distinguish between owning the raw materials and owning the creation arising from them.





5 [To make the fact that one’s child shares one’s genes become the basis for a property rights argument, in which the child is in some sense “owned” by the parent] is a dangerous doctrine that long led to child abuse and child labor.





Sentences 2 and 4 are “balanced” as the one hand and the other on which the conclusion rests.





4 The fact that one’s child shares one’s genes [should not] become the basis for a property rights argument, in which the child is in some sense “owned” by the parent.





2 There is no statistically significant genetic difference between a genetic parent and child and the genetic relationship between full siblings.  3 It is the added psychological aspects of parenting that give the parental genetic connection such an entitlement to legal recognition.





I clumped sentences 2 and 3 together.  You might have without fault made them independent or linked premises to sentence 1.





1 It is easy to place too much mystical importance on genetic connections [between parent and child].








